	Mathematics                              End Term 2
                                                             40 mins

43 marks                                                20-6-07




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.3, N6.2, N6.3, NDB6.3



13 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


9.3












ii)


2.56












iii)


3.6












iv)

5.1 ÷ 3









+
4.8
 













−
1.73
















x0.4
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v)

–5 – –2









vii)

2 x −5










viii)

−14 ÷ 2

















b)

Simplify and express in index form:





i)
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c)

Write each of the following numbers in scientific notation:





i)

720 000






























ii)

0.004 7
d)

Find the volume of the Earth (Radius = 6.38x106 m, [image: image4.wmf]3
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).
Question 2 (N5.3, N6.2, N6.3



12 marks - 4 each)

a)

Emily has a taxable income for the year of $28 600.  How much tax should she pay (Include the



Medicare levy)?  Also calculate her tax as a percentage of her taxable income.






The tax bracket for the financial year 1 July 2005 to 30 June 2006:

	Taxable income
	Tax on this income

	$0 – $6,000
	Nil

	$6,001 – $21,600
	15c for each $1 over $6,000

	$21,601 - $63,000
	$2,340 plus 30c for each $1 over $21,600

	$63,001 – $95,000
	$14,760 plus 42c for each $1 over $63,000

	Over $95,000 
	$28,200 plus 47c for each $1 over $95,000




The Medicare levy is an additional 1.5%    Round taxes to the nearest dollar.
b)

Calculate the approximate cost of running the following car for a year (assume that the car travels



50 000 km in a year):


Registration $567.30, Insurance $528.15, Service/maintenance $540 
per 10 000 km, Fuel consumption 11 L per 100 km @ $1.12 per L.

c)

A house loan of $230 000 is to be repaid in 25 years with interest of 7.1% pa compounded



monthly.  Calculate the monthly repayments and calculate the real cost of the loan 
[image: image14.wmf])
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Question 3 (PA6.2



9 marks)

a)

Expand, and simplify if possible:  i)

6(2a − 4)









ii)

(x – 3)(x + 1)















(1,2)
b)

Use the quadratic formula to solve:  
2x2 + 5x – 1 = 0



































(3)
c)
A building block with an area of 1 100 m2 is to be designed with one side 5 m longer that the

other side.  Find the length and breadth of the building block.





























(3)
Question 4 (PA6.2, S6.1


9 marks)

Find the value of the unknowns in each of the following:

[image: image15.emf]


a)


























b)



























c)



d)



























e)
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	Mathematics                              End Term 2

                                                             40 mins

43 marks                                                20-6-07




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.3, N6.2, N6.3, NDB6.3



13 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


5.7












ii)


7.04












iii)


2.7












iv)

5.2 ÷ 4









+
2.6
 













−
2.73
















x0.3
















v)

–6 – –3









vii)

−3 x −5









viii)

−15 ÷ 3

















b)

Simplify and express in index form:





i)
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ii)
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iii)
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c)

Write each of the following numbers in scientific notation:





i)

46 000






























ii)

0.000 23
d)

Find the volume of the Moon (Radius = 1.74x106 m, [image: image8.wmf]3

4

3

r

volume

p

=

).
Question 2 (N5.3, N6.2, N6.3



12 marks - 4 each)

a)

Aaron has a taxable income for the year of $42 900.  How much tax
should he pay (Include the



Medicare levy)?  Also calculate his tax as a percentage of his taxable income.






The tax bracket for the financial year 1 July 2005 to 30 June 2006:

	Taxable income
	Tax on this income

	$0 – $6,000
	Nil

	$6,001 – $21,600
	15c for each $1 over $6,000

	$21,601 - $63,000
	$2,340 plus 30c for each $1 over $21,600

	$63,001 – $95,000
	$14,760 plus 42c for each $1 over $63,000

	Over $95,000 
	$28,200 plus 47c for each $1 over $95,000




The Medicare levy is an additional 1.5%    Round taxes to the nearest dollar.
b)

Calculate the approximate cost of running the following car for a year (assume that the car travels



40 000 km in a year):


Registration $528.70, Insurance $492.35, Service/maintenance $680 
per 10 000 km, Fuel consumption 9 L per 100 km @ $1.21 per L.

c)

A house loan of $270 000 is to be repaid in 25 years with interest of 6.8% pa compounded



monthly.  Calculate the monthly repayments and calculate the real cost of the loan 



Question 3 (PA6.2



9 marks)

a)

Expand, and simplify if possible:  i)

5(3b − 2)









ii)

(x – 2)(x + 3)















(1,2)
b)

Use the quadratic formula to solve:  
3x2 + 2x – 3 = 0



































(3)
c)
A building block with an area of 1 400 m2 is to be designed with one side 6 m longer that the

other side.  Find the length and breadth of the building block.





























(3)
Question 4 (PA6.2, S6.1


9 marks)

Find the value of the unknowns in each of the following:


a)


























b)



























c)




d)



























e)
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	Mathematics                              End Term 2

                                                             40 mins

43 marks                                                20-6-07




	Instructions:  1.  Answer all questions.

 2.  Calculators permitted


Question 1 (N5.2, N5.3, N6.2, N6.3, NDB6.3



13 marks - 1 each)

a)

Copy and complete the following problems (without a calculator):




i)


4.9












ii)


8.18












iii)


3.4












iv)

4.5 ÷ 5









+
1.3
 













−
5.33
















x0.3
















v)

4 – –2









vii)

−5 x 2










viii)

−16 ÷ 4

















b)

Simplify and express in index form:





i)
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iii)
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c)

Write each of the following numbers in scientific notation:





i)

210 000





























ii)


0.000 044
d)

Find the volume of the Mars (Radius = 3.38x106 m, [image: image12.wmf]3
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Question 2 (N5.3, N6.2, N6.3



12 marks - 4 each)

a)

Kalia has a taxable income for the year of $33 730.  How much tax
should she pay (Include the



Medicare levy)?  Also calculate her tax as a percentage of her taxable income.






The tax bracket for the financial year 1 July 2005 to 30 June 2006:

	Taxable income
	Tax on this income

	$0 – $6,000
	Nil

	$6,001 – $21,600
	15c for each $1 over $6,000

	$21,601 - $63,000
	$2,340 plus 30c for each $1 over $21,600

	$63,001 – $95,000
	$14,760 plus 42c for each $1 over $63,000

	Over $95,000 
	$28,200 plus 47c for each $1 over $95,000




The Medicare levy is an additional 1.5%    Round taxes to the nearest dollar.
b)

Calculate the approximate cost of running the following car for a year (assume that the car travels



60 000 km in a year):


Registration $598.90, Insurance $575.45, Service/maintenance $690 
per 10 000 km, Fuel consumption 8 L per 100 km @ $1.24 per L.

c)

A house loan of $320 000 is to be repaid in 25 years with interest of 6.4% pa compounded



monthly.  Calculate the monthly repayments and calculate the real cost of the loan 



Question 3 (PA6.2



9 marks)

a)

Expand, and simplify if possible:  i)

4(2f − 5)









ii)

(x – 1)(x + 4)















(1,2)
b)

Use the quadratic formula to solve:  
2x2 + 3x – 5 = 0



































(3)
c)
A building block with an area of 1 600 m2 is to be designed with one side 8 m longer that the

other side.  Find the length and breadth of the building block.





























(3)
Question 4 (PA6.2, S6.1


9 marks)

Find the value of the unknowns in each of the following:


a)


























b)



























c)




d)
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